Caluclus AB NAME:

MC Packet 6 - Riemann Sums, Areas, and Volumes PERIOD:

In-Class Together: Problems 1-5
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® The function f is continuous on the closed interval {2,8] and has values that are given in the table
above. Using the subintervals [2.5], [5,7], and [7.8], what is the trapezoidal approximation of

| 2“ F(x)dx?
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@ The area of the region enclosed by the graphs of v=xand r=x" -3y+3 is
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The region bounded by the x-axis and the part of the graph of y=cosx between x= ~3 and

. t L,
x =-?2l is separated into two regions by the line x =F. If the area of the region for -5 sx<k s
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three times the area of the region for k< x < 5 then k=
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If the region enclosed by the y-axis, the line y =2, and the curve v= Wx is revolved about the
v-axis, the volume of the solid generated 1s
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The base of a solid is the region enclosed by the graph of y=¢ . the coordinate axes. and the line
x=3.If all plane cross sections perpendicular to the x-axis are squares. then its volume is
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In-Class: Problems 6-12
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The flow of oil. in barrels per hour. through a pipeline on July 9 is given by the graph shown
above. Of the following, which best approximates the total nunmber of barrels of il that passed
through the pipeline that day?
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Which of the following represents the area of the shaded region in the figure above? .

(A) I: f(i)(h? (B) j:(d - f("-\')) dx (C) ff(b) _ fr(a)

D) @G-/~ fla)] B [@-a[fB)-f@)]

" The volume of the solid obtained by revolving the region enclosed by the ellipse x~ +91~ =9
abouf the x-axis 1s

(A) 2n (B) 4n (C) o6n D) 9n (E) 12z



The atea of the shaded region in the figure above is represented by which of the following
integrals?
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The area of the region enclosed by the graph of 3 =x* +1 and the line y =5 is
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What is the area of the region completely bounded by the curve v =—x% + x+6 and the line
y=47

3 9 31 33
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The region in the first quadrant bounded by the graph of v =secy, x= -E and the axes is rotated
about the r-axis. What is the volume of the solid generated?
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Homework: Problems 13-21
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The graph of a piecewise-linear function 7. for —1 < x < 4. is shown above., What is the value of

{2 feodeo

(A) 1 (B) 2.5 ) 4 (D) 55 (E) 8

The area of the region in the first quadrant that is enclosed by the graphs of y=x> +8 and

y=x+8is
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The region enclosed by the y-axis, the lme x=3, and the curve y=+/x is rotated about the
¥-axis. What is the volume of the solid generated?
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The curves 1= f(x) and r = g(x) shown in the figure above intersect at the point {¢.b). The
area of the shaded region enclosed by these curves and the line x=-1 is given by
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The volume of a cylindrical tin can with a top and a botton: is to be 16% cubic inches. If a

minimum amount of tin is to be used to construct the can, what must be the height, in inches, of the
can?

(A) 22 (B) 242 €y 233 @) 4 (E}) 8
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49 A table of values for a continuous finction f is shown above. If four equal subintervals of [0,2]

are used, which of the following is the trapezoidal approximation of _[02 F)de?

A) 8 (B) 12 (C) 16 D) 24 (E) 32
@ The area of the region enclosed by the curve v = - the v-axis. aud the lines v =3 and x=4 is
v
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@ The area of the region bounded by the lines x=0, x =2, and y =0 and the curve y=e* is
(A) -‘3-_2_-1 (B) e-1 € 2(e-1) (@) 2e-1 (E) 2e
@ The region enclosed Ly the graph of v = x°.the line v =2. and the y-axis is revolved about the
v-axis. The volume of the solid generated is
'u_', 8
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